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(x2+4)Vx2+4
2
a

(ax2 2ax)Vax?-2ax

4x +24x
(x2+4)\/W
6x*—36x2432
(x2%-— 4)\/x2_

24x%-100

 25.(2x%+5)-3/(2x245)%

3e*-(e¥-1)
(e*¥+1)3
3e3%.((3x—2)e3*—4)
(2+e3%)3
x(2e2*+e*(—x%+4x+4)+x2+4x+2)
(e*¥+1)3
2e2¥(2e%*-3e%+2)
(2e¥-1)3
e *(e3*-5e%*¥—3e*-1)
(1+e%)3
4e*(e*+1)
(eX-1)3

2(sin?(x)+si n(x)+2 cos?(x))
(1+sm(x))
12x

(14x2)2vV1+x2

15

o (2x+5)2 \V2x+5

(x2 1)2
4x(x(2In(ax)—-3)-2)-1
x2(2x+1)3

4(2x3-9x2-9)

(x—1)3-(x+3)3
xX+2

- (14+2x)2V1+2x
2e* - cos(x)

n2 -a™ - In?(a)
x3 (20ln(x) +9)

(x— 1)3
2x(x%—3x+3)
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Losung Al
a) () =Z= x2+ ') =—
b)  f() = T o0 = -
0 f)==+1 ) =
d  fx)= ‘“j;*f) £ =
_ x(3x2%-8) "
e) f'(x) —ﬁ f'(x) =
f)  fx)= W f'(x) =
Losung A2
a) f()= m f'(x) =
b) (0 =~ £ =
A fi0)= % F(x) =
d) fllo =2 £ =
&) ft0= % £ =
) fx)= _(ex 2 f'(x) =
Losung A3
’ _ 2cos(x) "
a) f(x)= —(1+Zin(x))2 f'(x) =
b) f(x)= Vi fl'(x) =—
c) fl)= —W;_Zm f'(x) =
d [ =-57 (X)) =—5—
/ 2x(In(ax)—-1)-1 17
e) flw) =" e =
Losung A4
a) f'(x) =2x-(sin(2x) + xcos(2x))
f(x) = (2 + 4x?) - sin(2x) + 8x - cos(2x)
’ _ 4x(x-3) " _
b) f(x)—w ') =
C) f( ) - (1+2x)m f”(x) =
d) f'(x) =e*- (sin(x) + cos(x)) f'(x) =
e) f'(x)=n-a™-In(a) f'(x) =
f)  fx)= x41- (5in(x) + 1) f'(x) =
g) fx= D)7 f'x) =
h) oo =22 £ =

(x-1)3
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